Estimate your family’s carbon footprint by working out how much carbon dioxide (CO2) you produce

Heating your water and cooking with gas:

How much do you spend each year? For every 20,000/- spent on gas, or 10,000/- on oil or coal you produce 1 tonne of CO2.


Total CO2 (in tonnes) produced 

from gas, oil and coal in one year
Electricity:

How much do you spend each year? For every 20,000/- you spend on electricity you produce 1 tonne of CO2. If your electricity comes from a renewable resource this figure might be zero.
Total CO2  (in tonnes) produced 

from electricity in one year
Transport:

How much petrol or diesel does your family use in a year? 
	
	Car 1
	Car 2

	A – How many km does your car travel per year? (you can find out from your service certificate)
	
	

	B - How many kilometres does your car travel per litre of fuel it uses (in km per litre)?
	
	

	C - How many litres of fuel has your car used this year? (Answer A divided by Answer B)
	
	

	D - CO2  produced (in kg) (multiply answer C by 2.31 if your car is petrol or multiply answer C by 2.68 if your car is diesel).
	
	


 





Total CO2 (in kg) produced 

by your family’s cars in one year 

                                                  Total CO2 (in tonnes) produced 

by your family’s cars in one year 

(1000kg = 1 tonne)

Flying:
How much flying do you do? Three hours in the air = 1 tonne per person. So a 9 hour return flight to Europe for a family of four would amount to 24 tonnes of CO2.


Total CO2 (in tonnes) produced 

from flights for the year
Work and education:
For every person in your house in full-time work or education outside the home, add 0.5 tonnes. This allows for the carbon produced at work or school and paid for by someone else. Adjust this figure for part-time work/education.


Total CO2 (in tonnes) produced 

at work, school and college for

the year
Your food:
Approximately 1.4 tonnes of CO2 is generated in food production per person, per year in the UK. If you are average meat eaters and about half your food is produced locally, just multiply this figure by the number in your family to get a rough figure for your household.  For vegetarians reduce the initial amount to 0.9 tonnes per person. If you really make an effort to buy local food or grow your own, then take off another 0.3 tonnes per person.


Total CO2 (in tonnes) produced 

for your family’s food in one year
Your rubbish:

Work out how much carbon is released in your rubbish each year. For every large bag of rubbish an equivalent 0.02 tonnes of CO2 is produced in its manufacture, transport and methane generation. 


Total CO2 (in tonnes) released 

by your rubbish in one year 
Calculate your footprint:

Add it all up for your household’s footprint. As family sizes are different, you need to divide this by the number of people in your household to work out an individual footprint. Of course this isn’t an exact figure (see the notes) but you can get some idea how much carbon each person is responsible for. 

Total CO2 (in tonnes) produced 

per person, per year 
How much can our planet cope with?
The planet can cope with about 2 tonnes of CO2 from each person. 

What can you do?

· This footprint calculator is a rough guide. Most figures have been rounded up or down to make the calculations simpler. 

· If your family has more than one home you can calculate them together or separately. Just try to do the same next time so that you are making an accurate comparison. 

· Leisure activities have not been included, so if you use a swimming pool or a gym or other leisure facilities, be aware that these things are adding more CO2 to the atmosphere. 

· Consumption of new goods e.g. cars, appliances, bathrooms & kitchens have not been included. If you are really keen you could search the internet and try to work out how much CO2 has been produced by their manufacture and transport.













= Answer to D





= number of hours you fly per year divided by 3 and multiplied by the number of people in your family











= 0.5 X no. people in your household in full time education or full time work











Meat eaters = 1.4 X no. people in your family


Vegetarians = 0.9 X no. people in your family











 = no. of rubbish bags per year X 0.02
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